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6HFDUD�QDWXUDO��SHQGXOXP�WHUEDOLN�PHUXSDNDQ�VXDWX�VLVWHP�GLQDPLN�\DQJ�VXOLW�
XQWXN� VHWLPEDQJ�� $NDQ� WHWDSL�� GHQJDQ� PHQJJXQDNDQ� PHWRGH� NHQGDOL� VLVWHP�
WHUVHEXW�GDSDW�GLFDSDL�NHVHWLPEDQJDQQ\D��6HKLQJJD��SHUDQFDQJDQ�PHWRGH�NHQGDOL�
PHQMDGL�NXQFL�NHEHUKDVLODQ�SHQJHQGDOLDQ�SDGD�VLVWHP�LQL��

6HODLQ� VXOLW� XQWXN� VHWLPEDQJ� VLVWHP� LQL� PHUXSDNDQ� VXDWX� DODW� \DQJ� VDQJDW�
WHUSHQJDUXK� ROHK� IHQRPHQD�IHQRPHQD� DODP� VHUWD� PHPLOLNL� VLIDW� QRQOLQHDU� GDQ�
UHODWLI VXOLW� XQWXN� VWDELO� 2OHK� VHEDE� LWX�� VHWHODK� VLVWHP� PHQFDSDL� SRVLVL�
VHWLPEDQJQ\D� VLVWHP�NHQGDOL� MXJD�GLEXWXKNDQ�XQWXN�PHPSHUWDKDQNDQ� VWDELOLWDV�
VLVWHP� EDLN� GHQJDQ� DWDX� WDQSD� JDQJJXDQ� GDUL� OXDU� PDXSXQ� GDUL� GDODP� VLVWHP��
3HQGXOXP�WHUEDOLN�SDGD�GDVDUQ\D�GDSDW�GLUDQFDQJ�GDODP�GXD�EHQWXN�\DLWX�/LQHDU�
,QYHUWHG�3HQGXOXP �OLQWDVDQ�EHUEHQWXN�WUDQVYHUVDO��GDQ�5RWDU\�,QYHUWHG�3HQGXOXP
�OLQWDVDQ�EHUEHQWXN�SXWDUDQ���

3DGD� WXJDV� DNKLU� LQL�� VLVWHP�SHQGXOXP� WHUEDOLN� \DQJ�GLUDQFDQJ� \DLWX� OLQHDU�
LQYHUWHG�SHGXOXP GHQJDQ�PHQJJXQDNDQ�PHWRGH�IX]]\�ORJLF�FRQWUROOHU�SDGD�VLVWHP�
NHVWDELODQ� VXGXW� EDWDQJ� SHQGXOXP� GDQ� � PHWRGH� JDLQ� NRQVWDQ� XQWXN� NHVWDELODQ�
SRVLVL�FDUW��6LVWHP�SHQGXOXP�WHUEDOLN�\DQJ�GLUDQFDQJ�MXJD�GDSDW�PHPSHUWDKDQNDQ�
NHVWDELODQQ\D�NHWLND�GLEHUL�JDQJJXDQ�EDLN�VLQ\DO�LPSXOV�PDXSXQ�VLQ\DO�SXOVD�

+DVLO�GDUL�SHUDQFDQJDQ�VLVWHP�SHQGXOXP�WHUEDOLN�\DQJ�VXGDK�GLEXDW�\DLWX�VLVWHP�
GDSDW� PHPSHUWDKDQNDQ� NHVWDELODQ� EDWDQJ� SHQGXOXP� EDLN� GHQJDQ� DWDX� WDQSD�
JDQJJXDQ� GHQJDQ� QLODL� PD[� RYHUVKRRW ����� �� XQWXN� JDQJJXDQ� EHUXSD� VLQ\DO�
LPSXOV� GDQ� ��� XQWXN� JDQJJXDQ� EHUXSD� VLQ\DO� SXOVD�� 1DPXQ�� SDGD� VLVWHP�
NHVWDELODQ�SRVLVL�FDUW WHUGDSDW�HUURU�VWHDG\�VWDWH VHWHODK�VLVWHP�GLEHUL�JDQJJXDQ�

.DWD�.XQFL���IX]]\�ORJLF�FRQWUROOHU��OLQHDU�LQYHUWHG�SHQGXOXP��PDNVLPXP�
RYHUVKRRW�


